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® cosy
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® tany

@ tanx

@ COS X

@ sinx



5. sin 90° + cos 0° —tan 0° = A , sin 0° + tan 0° + cos 90° = B 2+ & uj,
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® -2 @ -1 @0 @1 ® 2
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@ sin20° > sin49° @ sin31° > cos31°
@ sin20° =cos30° @ sin45° > cos45°

® sin23° < cos23°



@ 2cos35°
© 2-tan35°

@ 2sin35°+ 2cos35°

© 1-cos35°

® 2-2cos35°

=
=%




8. /C7FAZ AA4HAY ABC ol AB =2, BC = 1 2t & 0,

(sin B + cos B) (sinA — 1) 9] 27
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Ch FolT BE W x4y o] S Fou?

2Zte sin cos tan
14° 0.2419 0.9703 0,2493
15° 0.2588 0.9859 0,2679
16° 0.2766 0,9613 0,2867
sinx = 0.2766 , tany = 0.2493
® 28° @ 29° ® 30° @ 31° ® 32°




Ze sin

cos tan
54° 0.8090 0.5878 1,.3764
55° 0.8192 0,5736 1.4281
56° 0.8290 0,5592 1.4826

@ 8.192 @ 5.736 @ 5.878

@ 8.09 ® 8.29
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12. o2 F 139 AABC 94 BC 9 A
Aol Yetf&= 229

@ csinB+bsinC @ csinB +bcosC
® ccosB+bcosC @ ccosB+bsinC

® ctanB+btanC



13. 0°<A<90°Y o, tanA = = 2} S}, sinA x cos A 9] 3H&?
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@ 3cm @ 4cm
® 3cm @ 24/3cm
® 3vV3cm
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® 30° @ 45° ® 50° @ 60° © 90°



19. x=30°=22 & o, sinx, cosx, tanx2] HAE v WSt A
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@ sinx < cosx < tan x @ cosx <tanx <sinx

@ sinx < tan x < cos x @ sinx < cosx = tanx

® tanx = sinx < cos x



20. sin(2x-10°) = A, x O] 27 (H, 0° <x<45%)
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21. thg x O] gL FNA A 2 ALY (07 < x <907 O]k )

@ tanx= V3 @ sin(x+10°) =

® cos(2x-10°) = ? @ tan(2x+30°) =1

DN | =

® sinx = cosx



22. tan(2A-30°) = V3 & W, V2(sinA +cosA) -2 9]
(T, 0° <A <90°)
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Lx+ 1y ©) A7)E Falelat,
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sin

COS

tan

14°

0.2419

0.9703

0.2493

15°

0.2588

0.9659

0.2679

16°

0.2756

0.9613

0.2867

17°

0.2924

0.9563

0.3057

18°

0.3090

0.9511

0.3249

19°

0.3256

0.9455

0.3443

20°

0.3420

0.9397

0.3640

21°

0.3584

0.9336

0.3839
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sin x = 0.2588

tany = 0.3640
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sin A +2cos A
sin A — cos A
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28. TS = At A7} sin30° 9 A e AL

1o

@ cos60°

@ tan45° x sin 30°

® %(cos 60° X tan 60°)
@ %(sin 30° + cos 60°)

® 2 x (sin30° x cos 30° X tan 30°)
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DO y=x+2
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® y= V3x+2
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